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PAPER-4

Aptitude Test for Architecture

Mathematics & Aesthetic Sensitivity — PartA : Q. 1to 100
Drawing Aptitude — PartB : Q.1&2

PART-A / WT-A
MATHEMATICS & AESTHETICS SENSITIVITY / TIfUra 3R weafesr @fadifadt

x+a ab ac x+da ab ac
001. If f(x)=| ab x+b bc |, 001. 3R f(x)=| ab x+b be @A
ab be x+c ab be x+c
find f(x
/6 £ (x) ST | T BT -
2 2 2 2
(A) 3+ 2x(d’ + b+ %) &) 37+ 2+ b+ )
2 2 2
(B) 2x +4x(a +b ) (B) 2x2+4x(a2+b2)
©) 4x"+ 2x + bx ©) 4%+ 2x + bx
(D) 45 + 3x(a+ b+ c) (D) 43 + 3x(a+ b+ c)

4-DB | [2] [ Contd...



002.

003.

004.

005.

x—2 —3

3x  2x

If = 3, find the value of x

(&) 5.-3

(B) 3,3

©) 4,2

D) -3,

If from a pack of 52 playing cards, one
card is drawn at random. What is the

probability that it is either a king or

queen?
(A)
(B)
©)
(D)

- tan2221§
1

1+ tan222§

What is the Value of
1
(A) 5

(B)

N

©

(D) 2

What is the value of 3 sin 20° — 4 sin3 20.
1
A) 1 B) —
(A) (B) 7
(D) 0

\‘

3
© 5

002.

003.

004.

00s.

x—2 —3
3x  2x

afe

BrTT-

1
273

(B) 3,3

=3, 8 ql x 1 A 1

(A)

(C) 4,2
(D) _39

Ife 52 99 o Ucdi H § Ueh YedT o7 HA
o TepTett STar 2 1 T a1 T < femat
TRt gl ?

(A 15

[S—

®) 5

[S—

©) 3¢

(o)

1

(D) 35

W

- tan2221§
1

1+ tan222§

1 HH =T gITI-

3 sin 20° — 4 sin3 20 kT T T SN ?
1
A) 1 B) —(—
(A) (B) N
(D) 0

\‘

3
© 5

4-DB]
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006. Iftan'® = 1—a then 006. e tan’0=1-4 i

sec + tan’ 0 cosec O = ? sec + tan” 0 cosec © =T T AT T ?
(A) (2-3)3? (A) (2—3)32

(B) (2-a?)'? (B) (2-a?)'?

(©) -a?? © (@-a??

(D) 1 (D) 1

007. The lines 2x — 3y & 3x — 4y = 7 are 007. =fe Y@ 2x - 3y3ﬁ'{3x— 4y =7TH g

diameters of a circle of are 154 square 1 SIE & 3N Smet 154 M2 B Al Fed
units. An equator of this circle is 1 geft. @ B (n =22/7)
(m =22/7)

(A) X’ +)y +2x-2y=62

2 2
(A) x+y +2x-2y=62 .
B) x+y +2x-2y=47

2 2
B) x +y +2x-2y=47 5 5
(C) x +y —2x+2y=47

(C) x +y —2x+2y=47 .
D) x +y —2x+2y=062

(D) X+ —2x+2y=62

d
008. I x— y=na@ral d—i ST T =T 81T ?

d
008. What will be the value of - if 1 ® 3
— v=1?
roymm (C) 1/4 (D) 12
A) 1 B) 3
(C) 1/4 (D) 172
009. IfEx=a (0 +sin6), y=a(l-cosd) & al
d dy
009. Find — , ifx = a(6 + sin 0), o e
X
y = a(1- cos0). (A) sin?0
(A) sin%0 (B) cos%
0
(B) cos 5 (©) tan 2
0
(C) tan > (D) tan0
(D) tan20

4-DB | [4] [ Contd...



2

010. If ¥ +-=7, then x’+ 5 will be? 010. aR £+-L=7 @ £©+L & am T
X X gﬁTlT— X X
(A) 38 ) 38
(B) 29 B) 2
(C) 18 ©) 18
(D) 28 D) 25
2
011. If ax +bx+c=al(x— ,then, what 2
. ) ( p) 011. ?Tf\aax2+bx+c=a(x—p),_&ﬁ?‘ﬁa,b,
1s the relation between a, b, ¢? R
(A) b’ = dac EA) A
B) 2b=a+c (B) 2= a+oc
©) b’ = ac © = o
(D) abc=1 (D) abe= 1
012. X5+ —+ 29 ill be =2 . y 2w
Xty oy 012 x_y+x+y+y2—x2:?
(B) x+y (A) x+y
B) 1 (B) 1
<€ -1 C) -1
2 3
x +y 2 3
®) =5 (D) 55
x ty x +y
013. 2sin0=x+ =, then , )
013. 2sin0=x+ 5, dd-
(&) x==1 (A) x==1
B) —1<x<1 B) _1<x<l
) x=1 ©) x=1
(D) None of these . .
(D) ¥ @ 15 T
014. Ifx=tan 15° then what will be the value
- 014. % x = tan 15° A 4 = B HA w0
of x + ? @Tn'_ X
(A) 16 (B) 12 (A) 16 (B) 12
(©) 10 (D) 14 ©) 10 D) 14
4-DB | [5] [ PTO



cos o, sin'o N in' cos'B  sin'P
015. If =5+~ 5 =1 then 015. C0s @ Sina_ g 2P 4 2
cos' B sin'B cos' B sin' f cos’a sin o
cos'B  sin'p : ST A T BT-
5 - will be -
cos'a  sin o
(A) 4 (B) 0
(A) 4 (B) 0 1
. © ¢ (D) 1
© 3 (D) 1
.3 3. .
016. Ifxsin’®+ ycos'® = sinO cos® & x sin 016. G xsin'0+ ycos'0 = sin0 cosd R x
0 0. then 12 + 12 — 2 sin @ = y cos 0 A9 x2 + y? 1 HME I
=ycos 0, then x= + y= =" Fio
A) 0 (B) 2 (A) 0 (B) 2
©€) 4 D) 1 ©€) 4 (D) 1
017. sin221=2 017.  sin22% =7 1 T &M
/2-V2 /2-V2
(A) 3 (A) 5
-2 i-/1
(B) 3 (B) 5
J2+ /2 © J2+ /2
©) /2 /2
-2 2- /2
D
(D) /2 (D) N5
4 x4
018. (36—x—2),its factors will be 018. (36_; , T 714 S BT
a
: : ( x2> X
(A) 6<x—%>(6+x—2) (A) 6\x—F (6+;)
0y (e )(6- %)
(B) 6<x+%)(6—%> (B) 6\x+7g J{6~"a
o (=5 o)
(©) 6<x—%><6+%) ©) 6lx=7)J\6+q
(o (=5 ){o-%)
(D) 6<x—%><6—%) (D) 6\x—a)\6~"a
4-DB| [6] [ Contd...



019. Ifa’+b'+ ¢ =ab+ bc+ ca, then 019. I ' +b' +c"=ab+be+ca, BN
a + b+ will be equal to? a + b+ ¢ ferees s g ?
2 2
(A) 3(abc) (A) 3(abc)
(B) 3a’b’c’ (B) 3a’b’c’
(C) 3abc (C) 3abc
(D) None of these (D) T G g &l
020. In a school, there are 1000 students, out 020. TH THA ¥ 1000 BET ¥ T 430 wefrat
of which 430 are girls. It is known that 5 3 100 o > ;
out 0f 430, 10% of the girls study in class ! 439 . R ﬂsl'ehql RIS
XII. What is the probability that a student UGl & WHTI TTSihal shi STkl
chosen randomly studies in class XII 2t ?
given that the chosen student is a girl? ;
3 A 7
A 5
1
B) -~
1 B) 1
®) 10 0
1
1 © 3
© 3 ;
3 D) 7
D) = 2
2
021. WA HH T | x*dx T AF FT BAT-
021. What will be the value of / x*dx after 1f il
luating it? ! 8
evaluating i (A) 5
8 2
(A) g (B) 5
2 6
B) 3 ©) =
6 7
© = D) 5
7
D) % »
/ 022. S /1 sin 2x dx? 1 WH T EMTI-
n/4 s
022. What will be S Y1+ sin 2x dx?
0 A) -1
A) -1 (B) 1
B) 1 ©) 0
© 0 (D) T & A T
(D) None of these
4-DB] [7] [ PTO



1 1

023. What will be the value of S xe dx? 023. S x &' dx 1 99 1 g -

0 0
1 1
A) 1 B) 3 A) 1 B) 3
(€) 0 (D) None of these (€) 0 (D) 319 © i &l
1 321 1 32|t
024. If[1x1]|2 5 1||2|=0,thenwhat | 024. AG [1x1] |2 5 1||2|=0,8dx
153 2| |x 153 2| |x
will be x? T O B ?
(A) —lor—7 (B) —2or— 14 (A) —1da—7 (B) —2d9uT— 14
(C) —30or-6 (D) —40r-10 (C) —3dar-6 (D) —4dAqT-10
1 0 10 1 0 10
025. IfA= &= _then find K | 025. 3fg A= & 1= , Tl KT
-17 01 -1 7 01
so that A2 = 8A + KI. aH Afg A2 =8A + KL
(A) -3 (A) -3
B) 9 B) 9
C) -5 € -5
(D) -7 (D) -7
2 —1 1 —8 —10 2 -1 —h sl
026, I|1 0 [A=|1 -2 =5 |a
026, If|[1 0 |[A=|1 —2 —5 |what
—3 4 9 22 15
-3 4 9 22 15
will be A? AT A _
' ' 3 2-7
3 2 -7 A) A=
@ A= WA= - 2
' ' (1 —2 =5
1 -2 -5 _
— B) A=
By A=1. 4 ®) 3 4 0]
(C) None of these (C) FH & IS T
7 -4 0
7 -4 0 _
— D) A=
(D) A—[_z 6_2] D) [—2 6—2]

4-DB | [8] [ Contd...



027.

What will be the maximum value of the

027. e f(x)=— (x— 1)?+2 on R &I AfIhan
function f(x) =— (x — 1)+ 2 on R? T 41 B -
(A) 3 (A) 3
B) 1 (B) 1
©) 2 (C) 2
(D) 4 (D) 4
028.  Find the maximum & minimum value of | (28, e f(x) = [sin*x + 3| on R &1 2Aferehan
the function f(x) = |sin*x + 3| on R? T <=1 gAT1?
(A) Max —4 Min -2 (A) ATRaH — 4 =FaH — 2
(B) Max -5 Min -2 (B) AT — 5 =[Aad — 2
(C) Max -3 Min-1 (C) Afehad — 3 = — 1
(D) None of these (D) ¥ ¥ hig &l
029. What will be the point of local maximum | 029. WM f(x)= x/1— x, x >0 foTT 3Tferepan
and local maximum value of the function T 9 fepad T O 8-
fx)=xy/1—x,x>0 !
1 (A) Point of local max —x = > Local
(A) Point of local max —x = = Local 2/2
2/2 max value — 3
max value — =3 )
) (B) Point of local max —x= 3 Local
(B) Point of local max —x= 3 Local 1 2
2 max value = A
max value 3.5 A 3
3 (C) Point of local max —x = ELocal
(C) Point of local max —x = ELocal 372
3./2 max value — 5
max value — 5 {
| (D) Point of local max —x = 4 Local
(D) Point of local max —x= r Local 4./3
473 max value — =3
max value — =3
030. 2)=43R f(2)=1,4
030. Iff(2)=4and f(2) =1, then find 2 AC
im Y2~ 2/
lim Y2~ /() fim == = e A -
x—2 x=2 X2
A) 1 B) 0
) 1 ®) 0 (A) (B)
C) 2 D) H ¥ ’
©) 2 (D) None of these © D) FH T
4-DB | [9] [ PTO



031. If f(x)=x +2x+ 7, whatwillbe f(3) | 031. IR f(x)=x"+2x+ 7,87 f3)H AR
w -
(A) 3 ®) s &
(A) 3 B) 5
©) 4 D) 8 ©) 4 D) 8
032.  Letf(x)=|x| and g(x) = |’|, then— 032, WHIf(x)=|x|d g(x) = |x3,q -
(A) f(x) and g(x) both are continous at (A) f(x) and g(x) both are continous at
x=0 x=0
(B) flx) and g(x) both are differentiable (B) f(x) and g(x) both are differentiable
atx=0 atx=0
(€) fix) is differentiable but g(x) is not (C) ftx) is differentiable but g(x) is not
differentiable at x =0 differentiable at x =0
ifferentiable at x =
(D) fix)andg(x)botharenotdifferentiable ) )
fx=0 (D) fix)andg(x)botharenotdifferentiable
atx =
atx=10
033. Letf(x)=(x+|x]) |x|. Then for all x 033. Wf(x)=(x+|x|)|x|.ﬁ@?x%%@—
(A) fis continuous (A) fis continuous
(B) f 1s differentiable for some x (B) f is differentiable for some x
(C) f'is continuous (C) £ is continuous
(D) f& f" both are continuous (D) f& " both are continuous
034. ABCD is a parallelogram. If the | g34. ABCD Th a@ﬁ;{ 2 At A.B.C
coordinates of A, B, C are (2, 3), (2, 4) ST S 2,3), (2,4)3 (0 _2)@ @
and (0, —2) respectively, what will the o ’
D =f¥ o ficeres o= g ?
coordinate of D.
A) x=2, y=-1
(A) x=2,y=-1 =2
B) x=3, y=-2
(B) x=3,y=—2 By
(C) X = 15 Y= -3
(C€) x=1,y=-3 , ,
(D) ¥TH & 1S Tl
(D) None of these
4-DB] [10] [ Contd...



035. IfX 85 amounts to X 95 in 3 years, what | 035, Ife T 85 fygem 39wt 4 T 9581 @
X 102 will amount in 5 years at the same 1021 5 991 | 3H =IS o 9 fuges
rate %? T BT ?

(A) 117 (A) 117

(B) 122 B) 122

© 132 (C) 132

D) 142

(D) (D) 142
9

036. If /1+2 =2 thanx=2? x_9

64~ 8 036. =fe, /1+64—8,gﬁ?ﬁanﬂaﬁm|
(A) 15 ) 15
B) 16
(B) (B) 16
(C) 17
(C) 17
(D) 18
(D) 18
1 _ 2,1

037. If x+ =35, then value of x +;—?, 037. Elﬁ, x+1y=5,Fﬁ x2+%=?, # TH
(A) 21 - g
(B) 23 (A) 21
(C) 25 (B) 23
(D) 27 (C) 25

(D) 27
038. The cube root of 0.00000729 is -
(A) 0.0027 038.  0.00000729 T TG AT BTI-
(B) 0.027 (A) 0.0027
(C) 0.0009 (B) 0.027
(D) 0.009 (C) 0.0009
(D) 0.009
039. Find the value of x if
33\ [+ x
Y =[1+i 039. =fg <1+ 256)—[1+16]3ﬁﬁx€m
256 16 T T BIT-
A) 1 (B) 2 A) 1 (B) 2
©) 4 (D) 3 C) 4 (D) 3
4-DB] [11] [PTO



040. Which is the Term of 1280 in Series 5, 10, | 040. 9vft 5,10, 20, 40, ............. 1 hI-H1 U2
20,40, oo ? 128027
(A) 7th (A) 7th
(B) 10th (B) 10th
(C) 9th (C) 9th
(D) None of these (D) I O hIS Tl
041. If (k—2, 2k +1), (6k+ 3) are in GP, then | 041. TS (k—2, (2k +1), (6k + 3) Tolicak oyoft
k=2 Bl ql kohT | T BT Y
(A) 2 (A) 2
(B) 7 (B) 7
(C) 3 <€) 3
(D) 6 (D) 6
042. The 3rd term of a G.P. is 4. What will be | 042 T]ﬁc_d'{ Aot 1 e ag 4 7 Trﬁw
the total sum of the first five terms of this Aoft < Sore Wi Gt BT AT AT BT 7
GP? (A) 1024
(4) 1024 (B) 1248
(B) 1248
©) 1368 (C) 1368
(D) 1092 (D) 1092
043.  Which term of AP 3, 18, 13, .......is 7g2 | 043 T AT 3,18, 13, ... 31 HH -1 9
7837
(A) Ay (A) A
(B) A =
B) A
©) A
©) Ay
(D) Az (D) A
22
044. Which term of the AP 3, 15, 27, 39.......... 044. TR ooft 3, 15,27, 39.......... T -
will be 132 more than its 54th term? e 549 92 § 132 3ftres grm?
(A) 57 (A) 57
(B) 92 (B) 92
(C) 63 (C) 63
(D) 65 (D) 65
4-DB] [12] [ Contd...



045. Evaluating cos(tan™! x) we get :— 045. cos(tan™!x) 1 B T YT T ITH BNT-
1 —1
A (A)
) 1+ ¥ J1+x
(B) 1+ X (B) 1+ X
© ©
v1+ X 1+ x
(D) 1 (D) 1
046. Ifx,y,z e [-1, 1] such that 046. Ffcx,y,z e [-1, 1]3H THR
. . 3n
sin !x+sinlyz= 37“, find the value of sin~ ! x+sinlyz= B &, dl
9
X+ y2007 + 7% 3008 29007 3008 P Y W 2006 2007 2008
x oAy tz T T T BT Y yo oz
(A) 0 B) 1 (A) 0 B) 1
© -1 ©) V2 © -1 (D) /2
1 /5
047. Evaluate tan {— cos —} e get — 5
2 3 Wee 047. tan{zcos g}aﬁw?ﬁﬁmwm
3-/5 gI-
A) =5
3-/5
/5+3 (A) 3
(B) 3
J5+3
© V2 B) —
(D) 1 © V2
D) 1
048 ath 20 10 21 b the value of +5 2] [62
‘ s oab| |5 8] VN o048, af as b]:[S NERPE VL
a and b. SR — gﬁi
(A) 4,5 (A) 4,5
(©) 4.2 (C) 4,2
(D) 0,1 (D) 0, 1
4-DB] [13] [ PTO



049. Simplify - 049. W;ﬁﬁq_
r . . _ [ 0 ; : _
c0s0 co'se sin 0 e sin® — cos 6 058 co.s sin O + sin® sin©® 0959
|—sin® cos 0 cos® sinO |—sinO cos 0 cos® sin0
1 0] 1 0]
A A
™| ™
1 0] 10]
B
(B) 01 (B) 01
11 11
C
(@) »11] ()»11]
(11 11
D D
(D) 4 5] (D) 4 5]
050. Find a matrix A, if - 050. 3fc
2 3 3 —6 2 3 3 —6
A= = A= = al
[—1 4 [—3 8] [—1 4] [—3 8]ﬁ
1 -9 Afged A 1 W w1 BT -
(A)
-2 4
[ 1 -9
. (A)
®) 1 —4 -2 4
.0 2_
®) [1 —4]
© 1 [0 2]
—4 4
© 1 1]
D) -2 -9 |—4 4]
| 1 —4
(-2 -9
(D)
| 1 —4
4-DB | [14] [ Contd...




051. The below diagram is the top view of an 051. 9 o ws ELS| % I HI T 29T 2|
object. Identify the front elevation of this &3 U foeheul @ 9 91 T A2 !

object. Creicll

©) (D)

A B
”A v ® ®

(©) (D)
L1 | C T

052. How many triangles are there in this

052. = f¥ T fot § fepad Brepior € 7

figure?
(A) 27 (B) 25 (A) 27 (B) 25
(€) 23 (D) 21 (C) 23 (D) 21

053. How many triangles are there in this

053. = fe¥ T fot o fepae Brepior & 7

figure?
(A) 23 (B) 27 (A) 23 (B) 27
(C) 29 (D) 31 ©) 29 (D) 31

4-DB] [15] [ PTO



054. How many squares are there in the figure | 054, = fed W g d fhaa st 8 ?

below?

(A) 20 (A) 20
(B) 13 (B) 13
(C) 24 (C) 24
(D) 17 (D) 17

055. How many squares are there in the figure

below? 055. = fod o foa # fha et @ 7
(A) 18
(B) 19 (A) 18
€) 25 (B) 19
(D) 27 (C) 25
(D) 27
056. How many squares are there in the figure
below? 056. TR fRA W FId R afd ?
(A) 11 (A) 11
(B) 21 (B) 21
©) 24 (C) 24
(D) 26 (D) 26
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057.  The figure below is embedded in one of | 057, v o= forel) wep faemew o gaTfRd 21 @21

the four alternate figures. Identify it. faepre =1 fafga =)
] |
L L
T =
@ | ® % w1 ® H
© |O=| oL © || o L

058. t]}“lhe f;gure&)elov: its; embedlciied tlr; oie of 058. w3 ot fopelt weh forepen o wafia 21 @l
¢ four alternate figures. Identify it. .
s g fored w1 fafd i)

b

*[bp » |xp
© ZLE (©) %
ol R o[

4-DB| [17] [ PTO



059. Which of the following choices is the | 059, v fug & ggt edu yfafars o &1 ==
exact mirror image of the main figure H| (gdw a5q F ofed w1 B WE 2)

given. (the mirror is on the right side of
the object)

H | 5

w |H | o\ ~ H | ®fdl

ol H oK ol Hl o\ R

060. %A = < HE qUur widfers ot 1 =
060. Which of the following choices is the Hi| (gdu g % arfad &1 h TWF ?)

exact mirror image of the main figure

given. (the mirror is on the right side of
the object)

(A) @ (B) @

(A) @ (B) @
©) @ (D) @

© @ (D) @
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061. Identify the odd one.

[

L]

Bl

(A) B) ©

062. Identify the odd one.

|

(A) (B) ©)

063. Identify the odd one.

(D)

—
O

(A) B)

064. Identify the odd one.

|
© (D)

NI

L

(A) (B) (©)

(D)

065. Hamayun’s Tomb is situated in

061.

faepedl § & fu=t amet w1 fafed =i

062.

063.

5] [ [ [
(A)

(B) © @D

foepedl o & T aret &1 Tafga )

b DS

(A) (B) © @D

foepedl o & T amet &1 fafa

N

064.

1G]
(B) ©) (D)

foepedl o & T amet &1 Fafga )

(A)

|2

(A) (B) © (D)

)
(A) Puniab 065. 31)3 q:;; Thell a1 o
(B) Madhya Pradesh (B) TeA el
(C) Uttar Pradesh (C) W el
(D) Delhi (D) feeeht
066. Architect B.V. Doshi Designed 066. c||{.§1|'\o|q CI e a§l 4 = &@a #
(A) T Kanpur g = feumga TR en?
(B) IIT Delhi (A) 3R, 3ME. A HEAR
(C) 1IM Ahmedabad (B) 5. 15, &. fooet
(D) IIM Bengaluru (C) S, IS, TH. ITEHEETG
(D) 3ME. FAE. T SMIE
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067. Who designed the city of Chandigarh? 067. =udhg ferod fesmred fwam an?
(A) Edward Lutyens (A) TEaE ﬁ’ﬁ?ﬁq
(B) Richard Rogers (B) = g
(C) Le Corbusier ©) @ EFRQ%PJT
(D) Aldo Rossi (D) Teel Tt
068. Which stone is used in Dilwara temples? 068. feoam WieT #9 @ TR § w1 27
(A) Granite (A) Tee
(B) Marble (B) ¢
(C) Sandstone ©) S
(D) Kota D) .
069. l\iajoriomponent of brick is 069. S & § s W
icke
(C) Carb *)
arbon
B) fiepat
(D) Magnesia ®)
(C) e
(D) HrHRE
070. Which of the following is a flowering
tree? . ) )
(A) Arjun 070. T H ¥ HF ¥ Ug W T o 37Td & 7
(B) Ashok (A) 3T
(C) Teak (B) 3
(D) Amaltas (C) &
(D) IHAGH
071. Which of the following is rock cut
temple? 071. 37H € %IF 91 Teh he AL B 7
(A) Meenakshi Temple (A) LIRIET Hﬁ(
(B) Kandariya Mahadeo Temple (B) hralTITAT HETed Hiwal
(C) Kailashanath Temple ©) HATIHTY AT
(D) Lingraja Temple (D) fermrst wf=x
4-DB | [20] [ Contd...



072.

073.

074.

The three primary colours are
(A) Red, Blue and Yellow
(B) Red, Blue and Green
(C) Red, Blue and Black
(D) Red, White and Black

The Extension of the Louvre, Paris, in the
form of a pyramid is designed by

(A) Eero Saarinen

(B) LM.Pei

(C) John Utzon

(D) Jane Drew

Which of these does not form part of
Reinforced Cement Concrete?

(A) Steel

(B) Sand

(C) Lime

(D) Cement

In questions 75-84, identify the logo and select

072.

073.

074.

= Wi (IEed) e a E 7
(A) e, e 3 e
(B) o, et 3 &0
(C) T, e 3T el
(D) TS, T%e 3T e

9, i@ & fowar (TemdH) S fh
s T it @@ 7, fohad fomam o 7
(A) T i

(B) 3. TH. UT.

(C) S 3AESH

(D) g

3 O T 9 i 11 {EThks i mhie
(R.C.C.) % "M o1 fewan 7€ gar ?
(A) ¥

(B) @s

(C) TS|

(D) "=

T 75-84 ® & T T @ g 9 fou e

the correct answer from the options below: foreredt # 9 T Iea? oA W
075. / / 075. /
(A) IBM (A) %, . um.
(B) BSNL (B) . TH. TA. TH.
(C) TATA (C) T
(D) INTEL (D) e
076. FJ 076. FJ
(A) Facebook (A) ‘}FFITSFF
(B) Firefox (B) BRITHFH
(C) Fiat (C) fore
(D) Fendi (D) et
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077. w 077. w

(A) Make in India (A) U & 3fean

(B) Jaguar (B) SR

(C) King Power ©) [ETIRICEN

(D) WWF (D) S5y, T, Th.
078. @ 078. @

(A) Adidas (A) TEieE

(B) Mahindra (B) ig=aT

(C) Amazon (C) TSI

(D) Avon (D) TEH
079. 079.

i i

V//\\V vﬂ \

"@ a "@ a

(A) Surya (A) g1t

(B) Aadhaar (B) YR

(C) Phillips (C) Tofered

(D) ONGC (D) 3. wd. Sfi. i,
080. @ 080. @

(A) Mitsubushi (A) ﬁq@q”[

(B) Mahendra (B) HAfg=gT

(C) Masterchef (C) ARG

(D) McDonalds (D) BhsiesH
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082.

083.

ca

(A) Chartered Accountant
(B) Council of Auditors
(C) Council of Architecture

(D) Chamber of Auctioneers

AN
(A) Airport Authority of India
(B) Sports Authority of India

(C) Electricity Commission of India

(D) Audit and Accounts Commission

081.

082.

083.

(A) T renfife ane gfegan
(B) wicE renfife o1fe sfeean

(C) sAfarefadt it 31 gfgan
(D) (TS WS FehTHed HiHTH

(A) Asian Paints (A) [NpE] ‘3!2?[

(B) Digital India (B) fesfiea sfeean

(C) Planning Commission ©) AT HiteE

(D) Smart City (D) @i fafe
g - e

(A"’ (A"’

(A) State Bank of India (A) T S ATH i

(B) Metro (B) g

(C) Uber (C) SR

(D) Oriental Bank of Commerce (D) AU o 31 G
4-DB] [23] [ PTO



085.  Select the correct figure from the options | 085, faercdi H 4 foret Teh 1 == L ST T
to continue the series to replace the = &1 afY tEﬁ Exent

question mark.

086. Select the correct figure from the options
to continue the series to replace the | 086. forepedi # | fopelt wh o1 =9 B S T

question mark. o= 1 aoft @E@Tﬂl

® B | B BB

(A) ; _ (B) — (A) ; _ (B) A >
B 8

(©) — (D) ? © — (D) ?
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087.  Select the correct figure from the options | (87,

to continue the series to replace the

question mark.

(A)

©)

088. Select the correct figure from the options | (88.
to continue the series to replace the

|

S

I

7

=

question mark.

(A)

©

(B)

(D)

—
O
0
‘
O

(B)

(D)

forehedt § O Toret Weh 1 == R S U
o= 1 aoft ot |

(A)

©

S

?

|
T

s

\S

=

(B)

(D)

forepedt & o Toreft T o1 ==F L ST AR
o= 1 aoft g svam

(A)

©)

Ol * <@

(B)

(D)

4-DB]
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089. Select the correct figure from the options

to continue the series to replace the

&Ry ,

question mark.

B

=
N

I\

N=

(A)

©)

=
a

5
D

(B)

(D)

089. faehedi # @ forelt weh o1 == KL S U9

o= 1 aoft ot |

any
B

=
NEANE%

D
D

(A)

<
D

©

(B)

(D)

/

D

090. Select the correct figure from the options
to continue the series to replace the

question mark.

Toreheat § @ fordft T 1 =39 L ST IH
o= 1 aoft gt |

090.

©

(D)

4-DB]
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091. Select the correct figure from the options
to continue the series to replace the

question mark.

> SE ¢
=

©) (D)

092. Select the correct figure from the options

091. faeredi # @ forelt T o1 == oL S U9
o= 1 aoft ot |

51 SE ¢

(A) (B)

©) D) ﬁ/

092. faeredt | O Torelt T o1 =9 L I T

to continue the series to replace the ferr <61 2oft Tﬁ 0|
question mark.
—= | = | = | 5 ?
= || = | == | T ?
. (A) =
(A) =
. ®) | =
(B) =
= © | T
©) | o
- D 0
D) = (D)
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093.  Select the correct figure from the options | 93, fyepedi & & freh) Teh 1 =TI B AT T
to continue the series to replace the Rz &y gy Tl S|

question mark.

3 ¢ |-o|-o
o +?“‘

o | o |2

6 |—o

?_
._

?

¢
o

w| o= ® - w| & ® 9
| o _‘ © |—@—| o —‘

094. Select the correct figure from the options 094. fTaocal § § freft Teh 1 TIH HL S I
to continue the series to replace the o= <y oft Ry Exent

~ PP
p

©

| PP
PP

o

’ T
" m ) $ (A) m (B) ‘$’
© m . % ©) m (D) %
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095.  Select the correct figure from the options | 095, faercdi H 4 foret Teh 1 == L ST T
to continue the series to replace the = &1 afY tEﬁ Exent

question mark.
(o ]
of|Oo
: : § § O: :O
(O)Vge]
?

—+| K
Ol

\)OOOO
oo | OO
)
)

DD
DD - -
@
: O ) A) |C = )
(A) O
©
o[ o
o[ o B) | C )
B) | ( ) oo
o Jo
@
0 ©) | @O
©) | €19 ©
©
(oﬁO) ®155°
(D) —

096. T AT AT Bt
096. Write the missing numeral.

(A) 14
(A) 14 ®) 21
®) 21 (C) 28
(C) 28 D) 18
(D) 18
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097. Write the missing numeral. 097. = &A1 TG B
6 8 6 8
24° 5 6 o 7 24° 5 6 o 7
19 9 19 9
(A) 3 B) 2 (A) 3 (B) 2
©) 1 (D) 8 ©) 1 (D) 8
098. How many faces/surfaces does this object | 98, = &t 72 T % dei hl A &I T
have? |
(A) 12 (A) 12
(B) 10 (B) 10
©) 13 (C) 13
(D) 15 (D) 15
099. How many faces/surfaces does this object | 099, = <f 78 &g & dqcll Sl FA T AG
have? Xy
(A) 14 (A) 14
(B) 15 (B) 15
©) 12 ©) 12
(D) 13 (D) 13
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100. The below diagram is the top view of an | 190. w7 & T a5 ¥ I T U
object. Identify the object with the given &3 U foepedt § § 35 3iferd hiferT i

top view that cannot have the elevation 39 o] of=a T T8 §)

from the side of the arrow.

z
z

2
2

S
S

@& ®
@ ®®
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